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A= XAl 40,000 = 1CH = 23 80
- NAsSAHEE R 500,000& = 104 = 13l 500
— g0l B34 CCTV &8JIes
20,000& * 74+ 12& 1,680
OAE ZHI S X 33,224
—S2FH(H=2],27 S) =cl
100,000& * 20CH 2,000
— S ME FHl =c 200,000& = 2504 5,000
— =D ¥ XNERF 11,224
Y= 1,867& * 2,000£ 3,734
a5 1,685& » 4,0004 6,740
=ES 5,000& * 1504 750
—gXn ZxE | 2e 15,000, 000& 15,000
Ozl 9,718
—SiHE(EAH) 5,000,000& 5,000
— Sl E(EAH) SHUWSH
1,685& = 200 * 145H 4,718
OXt& & B 11,000
— 22N L ALTH E=
11,000, 000& 11,000
401 Al HIZ 201 8] 822,907 776,142 46,765
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OAI&HI 795,000
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100,000, 000& 100,000
— 25 - =sEEZ A2 IXRIAY
150,000, 000& 150,000
—ONMAIEE AXI(EBAZE S)  10,000,000& 10,000
—HEo2s+% AIZ&E ZEHl 10,000,000& 10,000
—E2¢E ZAE 20,000,000& 20,000
-5 S22 0EEF H2RE
20,000,000& 20,000
— g Ot F&2xY XHS Al ¥ =2l
40,000,000& 40,000
—EZ2 LA &M 20,000,000& 20,000
— " Z0I B WA 45,000,000 45,000
—gXxzE8W F2 FH I H S AH(L=80m)
30,000,000& 30,000
— W SE U2 DAL (AL S 5HD)
200,000, 000& 200,000
— &2 He HENIZE EXSA
150,000, 000& 150,000
03 A2 2 0HHI 5,009 4,694 315
OAIZ SR HHI 795,000,000& * 0.63% 5,009
405 XHoHF S HI 2,000 2,000 0
01 et ESFH S 2,000 2,000 0
Oul=2J 7 400,000& = 5CH 2,000
A2 AT E 60,000 100,000 A 40,000
Xl 30,000
e 30,000
401 Al HIZ 2018 60,000 100,000 A 40,000
Xl 30,000
i 30,000
01 A& HI 60,000 99,100 A 39,100
OBAMX &2 NS AH(Z )
60,000,000& 60,000
Xl 30,000
[ia 30,000
LoESHY ZXRIHLAY 100,000 50,000 50,000
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e 50,000
401 Al HIZ 2018 100,000 50,000 50,000
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e 50,000
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OXicte HE &=+ 6,850,000& 6,850
< 2,050
[ia 4,800
403 XIS E X201 E 9,900 9,900 0
02 SO 2SHHEHAHE R 2 E AL 9,900 9,900 0
ExXote= 252 A4 =Xl
900,000& * 11J0HA 9,900
A SN ALY 7,191,597 6,387,391 804,206
22 XNGAS 7,191,597 6,387,391 804,206
BIR=E=PNE-FN, 100,000 100,000 0
401 Al HIZ 201 Y] 100,000 100,000 0
01 A& HI 100,000 100,000 0
O20124 Old E2, sgJ(E 02228 &
Xl Of & 100,000, 000& 100,000
HEEHH FHIH ALY 2,721,500 2,721,500 0
203 YR =&l 1,500 1,500 0
03 AIHZ=XH 2 =AY 1,500 1,500 0
OXI LA =2 150,000& * 103l 1,500
401 Al HIZ 2018 2,720,000 2,720,000 0
01 A& HI 2,720,000 2,720,000 0
OFY =2 (8s)0ts 2 FHl(L=80m)
25,000,000& 25,000
Oy #3202 =2 ZH(L=50m)
8,000,000& 8,000
O#Y st@~=F0S 42 T X (L=400n)
25,000,000& 25,000
OFYE S (MZ)0t2 == FbBI(L=200m)
20,000, 000& 20,000
O&Y olgots o+ &l (L=200m)
30,000, 000& 30,000
O4 E&0tE2 s=2MH4A(L=75m)
20,000,000& 20,000
O&FY ME& 26t&(2) Fdl(L=15m)
25,000,000& 25,000
O&4d o=x0t2 2+2 HHl(A=2,000m")
27,000,000& 27,000
oY 2AR0ts 2EMY 30,000,000& 30,000
O&Yg ZOot0teS o2 HHI(A=2,000m)
32,000,000& 32,000
O&g E&E ()08 =2 22 (L=50m)
8,000,000& 8,000
OERX SXZ0tg 2t I X =2I((L=200m)
15,000, 000& 15,000
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10,000, 000& 10,000
OERX tHalots o+ X <2I](L=200m)
15,000, 000& 15,000
OEX ohatots Y= ZE(L=120m)
12,000, 000& 12,000
OEX Oh == ZF(L=150m) 15,000, 000& 15,000
OEX &A Hia~=2 FHl(L=80m) 28,000,000& 28,000
OY Xl OtXl di==2 &Hdl(L=150m)
30,000,000& 30,000
OgRXl X7 2N 30,000, 000& 30,000
OERX «JH0t2 ot X & (L=100m)
15,000, 000& 15,000
OERX g320t2 23717 &1(43)
10,000, 000& 10,000
ODnY AetX+ =2 FHI(L=110m)
25,000,000& 25,000
Ol i sHx=2 &2 WM (L=150m)
25,000,000& 25,000
O H26tARKX tH==2 ZHl(L=50m)
30,000, 000& 30,000
O Mgotg g2 F 4l (L=50m)
10,000, 000& 10,000
Ong =17 22 X4 (L=500m)
10,000, 000& 10,000
O e =2 ZHl(L=100m)
30,000, 000& 30,000
Ol =UotE +2 {2 & (L=300m)
25,000,000& 25,000
O HoIAFX =¥ FHl(L=300m)
25,000,000& 25,000
Oddsh Aot OtAZ IM22D & =2 &
81 (L=300m) 15,000, 000& 15,000
Ods 412l =2 ZHdl(L=120m)
18,000, 000& 18,000
Od s B4E2el =2 Z 4l (L=200m)
18,000, 000& 18,000
Odg4 e =28 % 4 == ZHl(L=80m)
20,000, 000& 20,000
Oda THaE ot OtAE IMR)] 2 =2 2
2= (L=300m) 18,000, 000& 18,000
Odeh He s2Hd L 2 FHI(L=150m)
20,000, 000& 20,000
Od4 2= Eti+==2 Fl(L=2,000m)
13,000, 000& 13,000
O&Ar ghg| ot otAE IM=2D| L =2
A HI (L=250m) 20,000,000& 20,000
Od4 €63 Sti+==2 F 4l (L=200m)
20,000,000& 20,000
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O&A Jt= ot OtAE M 2D (L=500m)

18,000, 000& 18,000
OUg 402 otA 2 A M 2] (L=300m)

30,000,000& 30,000
oug olg 22X =2 =ZH(L=100m)

35,000,000& 35,000
Ooug dolel M=X & bHi==2 &bl (L=250m)

20,000,000& 20,000
OUg =it =2 EZ(L=300m)

25,000,000& 25,000
Olg 83 28% ¥ =2 Z & (L=150m)

15,000, 000& 15,000
Oug Zolote == EZZ(L=150m)

15,000, 000& 15,000
oug &d X2 =ZE(L=100m)

35,000,000& 35,000
OUg olgtel sz 224 (L=250m)

5,000,000& 5,000
OUE L0028 sHEZZ 1028 THIEZE(L=52

Om) 50,000,000& 50,000

O0lg S0f0t2 tH==Al4 & XI(L=150m)

15,000, 000& 15,000
ool 83 24g0ts ot otA2EZ FH (L=250m)

15,000, 000& 15,000
ooyt erg] =02 OtA 2 EH (L=250m)

20,000,000& 20,000
o0l 2EX= &2 HMAIHAZ & X (L=100m)

30,000,000& 30,000
ool S&0tS 27 Fbl S AH(L=40m)

30,000,000& 30,000
OO0l olatots o+ HH =1 & 2 AH(L=100m)

20,000,000& 20,000
ool &0t Bi+== Al (L=200m)

20,000,000 20,000
Oo0lgt sS40t B2 & Xl (L=200m)

20,000,000& 20,000
OO0l 2402 h=2 i 2 AH(L=30m)

10,000, 000& 10,000
OR0 WE= = FHlI(L=150m)

20,000,000& 20,000
O%0 Ot=& 2= =& Mg 30,000,000& 30,000
O8O 07 2 =2 &l (L=120m)

15,000, 000& 15,000
OR0H MZotg et &l (L=100m)

15,000, 000& 15,000
OR0H =4 ti=2 ZHdl(L=600m)

20,000,000& 20,000
ORd slE20t2 ot L == ZHI(L=100m)

30,000, 000& 30,000
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OR0 &40t == F bl (L=80m)
10,000, 000& 10,000
O%R0 &4 =2 FHI(L=100m)  20,000,000& 20,000
OR0H & =2 Zdl(L=150m)
20,000,000& 20,000
OUR 0ls ot23ld Y=z OrAZIM2I|(L
=300m) 30,000, 000& 30,000
OWUX 2x2| otAZ M| (L=300m)
30,000, 000& 30,000
OUH Xl OlaF 248r0]AFE2 T2 F (L=400m)
40,000,000& 40,000
OUX 20l 2ExZ=s2 T2 X F(L=100m)
10,000, 000& 10,000
OWXl R0I13Y 0otAZ LM 2I((L=100m)
10,000, 000& 10,000
OUX A5 &ard ti+==2 &l (L=40m)
15,000, 000& 15,000
OUX &3 st otA 2 H X =2I[(L=300m)
30,000, 000& 30,000
OWXl &0l OtA2 A 2I](L=120m)
15,000, 000& 15,000
OUX 842 0tAZ M| (L=300m)
30,000, 000& 30,000
OAd Hellts s=2ZH(L=250m)
25,000,000& 25,000
OAY &ZAH0tS == & X (L=50m)
20,000,000& 20,000
OAE HEZHZ == bl (L=50m)
20,000,000& 20,000
OHd &0l =98 =2 &XI(L=100m)
20,000,000& 20,000
OHH dleor2d Hi=2 Al (L=50m)
10,000, 000& 10,000
OAE SLMEDOE tH=2 & Xl (L=50m)
20,000,000& 20,000
OAAE AL =2 ZHl(L=100m)
15,000, 000& 15,000
OHHX XsSZ MEE(L=200m) 15,000, 000& 15,000
OHY 2=0tS 4t T H(L=100m)
15,000, 000& 15,000
ONe dEOtS o2 X H(L=360m)
20,000,000& 20,000
OZ4 fE17 =2 X (L=250m)
30,000,000& 30,000
Ogd 2817 D52 FH 52 XL & (L=250m
) 15,000, 000& 15,000
O AHM3T FAH(LGHE) FHI(L=100m)
30,000,000& 30,000
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Ogat MHIF DHE=2 & =2 F Ul (L=70m
) 10,000, 000& 10,000
Oga FRHEHYAIL AX 15,000, 000& 15,000
Ogat Aelore o2 otAE T E & (A=1,500m
) 30,000, 000& 30,000
Oga AH2R DISE42 =8 I
25,000,000& 25,000
Oga M3 o+ =2 & Hl(L=30m)
7,000,000& 7,000
OZa g1 g & CCTVE Xl 14,000,000 14,000
O HOIESE #XI(HZ) EXI(A=4.20m )
4,000,000& 4,000
O =08 =2 ZF(L=290m)
20,000,000& 20,000
OX0t s&0tg 2¢t2 =2 ZFH(L=100m)
15,000, 000& 15,000
OZOt &XIE =2 FHI 3 AHL=70m)
20,000,000& 20,000
OXOt &E30tg ¢t =2 Z & (L=80m)
15,000, 000& 15,000
OZ0t otol= JIPHE XA =8 FH|
15,000, 000& 15,000
OX0t &4XIE =2 FHbI(L=120m)
20,000,000 20,000
OX0t Zelth==& Y2 ZF(L=200m)
20,000,000& 20,000
OOt Rel ot H=+=2 EA 10,000, 000& 10,000
OZ0t =202 FX& &XI(A=350m")
15,000, 000& 15,000
OOt gR0t2 o+ OrAZH X 2T (L=350m)
30,000, 000& 30,000
OZ0F 6tol= M& Zdl(L=100m)
20,000,000& 20,000
O&® T &27 ot=er2l Hdl(L=200m)
30,000, 000& 30,000
O=& el M24atS o2 FHl(L=150m)
20,000, 000& 20,000
O=& olel1? o232 & == HHl(L=100
m) 20,000, 000& 20,000
O=&d oel2s g92& =l MY ZHl(L=400m)
40,000,000& 40,000
O=d =eclot2 ot Al (L=50m)
20,000, 000& 20,000
O&d 2217 =2 EHIZE(L=60m)
30,000, 000& 30,000
OFd 227 Z0t2 =2 FHl(L=100m)
20,000,000& 20,000
Oz= 2Asits 22 MY== FHI(L=300m)
20,000,000& 20,000
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022 Ws0ot2 A Zl(L=60m)
30,000,000& 30,000
OZ=2 stHote s=2 ZZ(L=100m)
10,000, 000& 10,000
OZ= A20t2 =2 Al (L=50m)
30,000,000& 30,000
022 Aldots e+2 Al (L=300m)
20,000,000& 20,000
OZ= S0t s2 E & (L=200m)
20,000,000& 20,000
OZ= sZ0ts 23N 30,000, 000& 30,000
0ZR =Xg&d 23717 H1(88)
20,000,000& 20,000
O8=2 225 &XI(1004) 10,000, 000& 10,000
O8= 2028 A FHI(L=30m)
15,000, 000& 15,000
Of= 23& =¥ FHl(L=4.0km)
15,000, 000& 15,000
OS2 HU0rs o+ =X (L=150m)
25,000,000& 25,000
Of= FZ0S #*AHAFHI(L=50m)
20,000,000& 20,000
O3 FMXF =2 ZFZZF(L=100m)
30,000,000& 30,000
Of= =0 (MsUdl) at==+ Fbdl(L=100m)
20,000,000& 20,000
OR=2 titg s2 ¢ g2 F 4l (L=100m)
20,000,000& 20,000
O3 2UYUSIBAZIN =H =Y AX(L
=80m) 5,000,000 5,000
O2=2 =CAA Fbl(L=100m) 20,000,000& 20,000
OR32 H2(ZF)otg8 =2 =HZF(L=50m)
30,000, 000& 30,000
MEREH HAAY 2,008,700 2,008,700
203 YR =&l 1,500 1,500
03 A Z=XH R =AY 1,500 1,500
OMa=gEH Al =2 150,000& * 103l 1,500
401 A& HIZ 201 8] 2,007,200 2,007,200
01 A& HI 2,000,000 2,000,000
SH MEFHEAAY 2,000,000
— 0= etz Fl 720,000,000& 720,000
— 02 =2 &l 900,000, 000& 900,000
—ol=Xel 292 St=7EH & ATALS
380,000,000 380,000
03 Al 2 THHI 7,200 7,200




AN ALNSH
2 XS A

_ _ _ SHE|
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
OSH ME=HHAAY

2,000,000,0002 * 0.36% 7,200

o AHOAIY 2,330,236 1,528,967 801,269

401 Al&HIZ 200 2,330,236 1,528,967 801,269

01 Al&HI 2,322,827 1,524,989 797,838
OAl&H] 2,322,827

— ALAI A H I 2,058,000,0002 * 3.15% 64,827
— &Y Q202 th£&2 Ul (L=70m)
12,000,000 12,000
— &g staOrE o2 A HI|(L=60m)
20,000,000 20,000
— &S 2H(FUty)0r2 o2 & Hl(L=50m
) 12,000,000 12,000
—®9 OE0I2 o2 122 = (L=120m)
20,000,000 20,000
— &Y EHNES 22 DA (L=60m)
10,000,000 10,000
— &9 A0S 22 ol (L=36m)
10,000,000 10,000
— &9 R (HEE)0t2 o+ AH|(L=80m)
25,000,000 25,000
— &9 02 =2 ZE(L=165m)
15,000,000 15,000
— &4 TO0F, st2litS =YY & X (L=210m
) 15,000,000 15,000
— &9 =2 02 242 1A (L=300m)
22,000,000 22,000
— 24X A0S o2 OFAZ S M 2T (L=300m
) 20,000,000 20,000
—9X gZOor2 WA & X (L=25m)
25,000,000 25,000
— X AAOFS o2 & A (L=30m)
50,000,000 50,000
— X SAOIE ™YZ2 FHH|(L=3m)
10,000,000 10,000
—YXl B0 42 R H[(L=90m)
8,000,000 8,000
— 24X 0202 Gt A H|(L=430m)
50,000,000 50,000
— 94X 2"oe Y2 =HF(L=100m)
40,000,000 40,000
— D 2tA(E0H)0FS ot2 T Z F(L=300m)
25,000,000 25,000
— D0 0/2(23)0t2 ot2 T = F (L=400m)
30,000,000 30,000
— D 2tX(HAHDIS ot2 T & & (L=350m)
30,000,000 30,000
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— 0 Heot2 tha==2 F 4l (L=150m)

50,000,000& 50,000
— &4 HE0tS =200 & (L=80m)

50,000,000& 50,000
—Hi HME 242 WA (L=300m)

50,000,000& 50,000
—d& 28 =2 FHdl(L=1,000m)

30,000,000& 30,000
— g4 HE0tsS ot E I A A (L=20m)

20,000,000& 20,000
—Ug 23202 =2 H4&(L=150m)

25,000,000& 25,000
— g s4ots vz ZH(L=320m)

30,000,000& 30,000
—Ug dE(HH)0Ee s F(L=120m)

12,000, 000& 12,000
— g =00tE s2Z& & =2 &X(L=

200m) 20,000,000& 20,000

— g ZX0tES =2 Al (L=350m)

30,000,000& 30,000
—0lg BOA0tS A0 AX(14)

20,000,000& 20,000
— 0/ HAEMS =2 ELE(L=120m)

20,000,000& 20,000
— S0 se¢X MY2 MIEZFH(L=500m)

25,000,000& 25,000
— S0 Msiots otz T & (L=920m)

40,000,000& 40,000
— S0 2S0tS ot I & (L=920m)

40,000,000& 40,000
— WX &2l otA 2 IFM=2I](L=180m)

20,000,000& 20,000
— A 2 A2 B2 |l (L=40m)

10,000, 000& 10,000
—UX 28 =2 &SXZ& F4l(L=100m)

20,000,000& 20,000
— A4 AHL0E 3t OtAZ EF(L=400

m) 30,000,000& 30,000

—Hd sez2egs2d s SZFH(L=570m)

200,000, 000& 200,000
—H4E NLitE s2 SUAX(L=40m)

15,000, 000& 15,000
— A4 ZAH0tS2 MEE(L=500m)

30,000,000& 30,000
— Y dE= 0t22Z THEE(L=400m)

25,000,000& 25,000
— A4 At2lors et THE & (L=500m)

25,000,000& 25,000

_23_




Sk

X FH -
o Tt
el

A8 WS
RS AL
ARZ XSAY

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
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10,000,000& 10,000
— YA AMH2T? SAOIES B2 J | (L=50m)
10,000,000& 10,000
— &0t SHOE =HAKX B0 & A (L=80m)
30,000,000 30,000
— &0t 2st0ts o+2 Al (L=110m)
12,000,000& 12,000
— & 0F AKX Mol E X &l (L=65m)
30,000,000 30,000
— &0 22 MAEES =2 EH|(L=160m)
15,000,000& 15,000
— S & X022 =2 Al (L=70m)
20,000,000 20,000
— & 22| =2 Y HH|(L=50m)
30,000,000 30,000
— & X1 0l Y2 =LA (L=130m)
30,000,000 30,000
—Cd 2202 =2 S EZE(L=100m)
25,000,000 25,000
CH ED0S S2HE U HEIAY (L4
00m) 100,000, 000& 100,000
—Cd S22 A2 FHIIE(L=110m)
250,000,000 250,000
— 22 MEQS S2H4|(L=70m)
20,000,000 20,000
— 2= SA0S 2 EZ & (L=100m)
10,000,000& 10,000
— 23 5208 =2 EZ&(L=250m)
20,000,000 20,000
— 22 SFH0E HEYY & X (L=50m)
10,000,000& 10,000
— 822 A=0ts 2t JHA (L=150m)
15,000,000 15,000
— 822 £H0WXP =2 XX (L=200m)
20,000,000 20,000
— 22 202 74 =l (L=50m)
20,000,000 20,000
— 22 A=s-2 U2 HAFETZ AH|(A=1,000m
) 20,000,000 20,000
— 22 st=20tset HEH HH|(L=70m)
30,000,000 30,000
—Hg BR0S MWL (1)
30,000,000 30,000
— A 240ls - (14
30,000,000 30,000
— DY OIS0IE sS2FH|(14!)
30,000,000 30,000
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SN ASDED
M NGNS A
Ehelr A7 2 XA (&
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— 0 oS =2 Zl(14!)
20,000,000& 20,000
— 0% Y SHAZK HHl(14])
25,000,000& 25,000
— g4 HENS s2EE(14])
20,000,000& 20,000
— A AS0S I8 ZTE(14])
20,000,000& 20,000
—UX 2222 022 ZTE(14])
20,000,000& 20,000
—UX &3 2% =2 Ful(14)
20,000,000& 20,000
— LD ZA0IE BEML(1A)
30,000,000& 30,000
03 AIE =2 0HHI 7,409 3,978 3,431
OSHAYAI 2,058,000,000& * 0.36% 7,409
Saete 31,161 28,224 2,937
101 @124 dl 22,361 19,424 2,937
04 D12t Z2XREES 22,361 19,424 2,937
OZaBY dURA 22,361
—-Jlas 60,2403 * 1H » 245 14,759
sesdsd 60,2403 * 1H » 68 4,097
—BE= 18,855,120& = 0.09 1,697
= 60,240 = 1% = 30 1,808
202 oddl 7,200 7,200 0
01 = LH &4 1l 7,200 7,200 0
242 FA 150,000& * 4H = 123 7,200
203 PR =&l 1,000 1,000 0
03 Al =& A2 =X 1,000 1,000 0
OEdg2 & 200,000& = 53| 1,000
204 AR A H| 600 600 0
03 EZYREHI 600 600 0
Ot asH(Z#azdz)
50,000& = 1¥ = 128 600
sns N 11,563,595 8,068,879 3,494,716
= 46,800
X 1,500,000
< 1,274,337
i 8,742,458
IME=FSPN R g 205,667 191,496 14,171
WsZEM HE ¥ =& 205,667 191,496 14,171
101 144 dl 45,570 42,231 3,339
04 JIZHHZ2XRHEE S 45,570 42,231 3,339
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X &
N = (&2 &)
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
OnEENMAERA 45,570
—Jlzs 60,2403 * 2F = 245¢ 29,518
-R3FY+Y
60,2403 * 2% * 1.5 » 68 12,289
—S8= 41,806,560& = 0.09 3,763
201 L2l 102,997 91,165 11,832
01 At 22l 39,117 37,919 1,198
Oget=&H| 32,017
—NEHIANH L WEEN EE=2 MHE 4,000
= 75,0003 » 2000 & 1,500
OFLY 2+ Et 50,000& » 200H & 1,000
NsXE 822 A
500& = 1,50001 = 23l 1,500
—ASUHHLESE L FHEX ALYEHE P
DXAM HZ 100,000& = 38 » 8% A 2,400
— &S M= 65& * 15,0004 975
— =X SN etufE M
50,000& = 204 1,000
—JtEAHAH ME =2 80& = 10,000 800
—WEANTAES HIAHIH =2 22,842
wsdss
51,0403 = 91J|48,580& * 4175 = 8,223
dES
51,0402 = 153J]/+8,580& » 1825 = 9,371
- MOIZIE&S
51,0403 = 100/48,580& » 108 = 597
2tEE §&S
51,0403 = 78J/48,580& » 785 = 4,651
o=zg=¢ 2,100
—NENMFMAORARAEG FASF
70,000& * 59 = 23| 700
—WSAN0ISEASAAZE A+
70,000& * 3% = 23| 420
—EAIZXREY EAsY
70,0003 * 798 * 23| 980
o=l 2,000
— WS KT EH 2,000
X 10,0002 * 504 500
28= 150,000& » 5% = 24 1,500
Ogxtz 3,000
— SUUXE AU X
100,000& * 30CH 3,000
02 =224l 63,880 53,246 10,634
03323 2 HA 35,686
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EX: A4 ns
HHM: Hzs Nd
Sel: DSEN =Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—ANSAHAESE L FHIAL BEHS 20
2E SJ=2 1,930 = 2,50024 4,825
— 2 AIEND SXA RESII2
1,930 % 2,500 4,825
- 22 DNN S53 2BSIIE
1,930 * 2,000 * 43| 15,440
—SJIRH Bt 1,630 = 1000 ~ 12€& 1,956
— NSXHEIZAF CHUHE A
300 ~ 1,30004 ~ 12€ 4,680
—=2Y FAEX StE JNe JIIR=2
25,000 * 84 « 12€ 2,400
- SRNYYNUIA 2HES +48
12& x 5,000 » 1204 & 720
—XEHEMNE RUANSZAIEX LTERE AIS
2 44 000 » 1200 & 528
— R0 NESEHEIMH2H Y AIER23
26,0008 » 1204 & 312
OAl& Z&HI KX Y| 28,194
—0lsSASEINSAIAE X
1,000,000 1,000
— DHA =S e SAIE 4]
250,000€ * 6OHA =120 E 18,000
— =Y FTEXN SEALYYE NHUHIA RAE4H|
349,4403 ~ 128 4,194
— DHEA c=I0et =2l /=4
5,000,000& 5,000
202 044l 10,800 10,800 0
01 2L HI 10,800 10,800 0
OUSANEE &2 & NESdAN &
150,0008 = 4% * 18Y 10,800
203 ¥ 2 =& 1,500 1,500 0
03 Al ZH =& 2 = X H| 1,500 1,500 0
OuUSEANEE 2t&3| 250,000 * 63| 1,500
301 LBt A= 1,800 2,800 A 1,000
09 #HAIAHIBEAZ 700 700 0
OE=SAIAI 23 NFEAX ALl2A
7,000& * 30¥ * 23| 420
ORSTAHY AT 2bl24
7,000& * 20 * 23| 280
11 JIEtE2 A= 1,100 2,100 A 1,000
OnNsEZAN HE 222 110,000 = 10 1,100
307 QI2t0| & 3,000 3,000 0
02 QI2tAAMAIE E =X 3,000 3,000 0]
ORYHNAE MY X & 3,000,000& 3,000
401 AIEHIZ 201 Y| 40,000 40,000 0
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01 A& HI

40,000,000&

40,000
40,000

40,

000

MW

5,208,273
46,800
422,337
4,739,136

3,459,
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1,748,589
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H
>
E
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o
]
>
o
gl
0o

r

M

20,482

6,145
14,337

2,365

101 @124l

M H

20,482

6,145
14,337

2,365

04 DIt 22 XS+

OHXLE(sHEHA) RS ZAE
g

EURLY

-4 60,2403 = 34% = 28 * 1.5 * 23|

EUNL

20,482
20,482
8,193
2,458
5,735
12,289
3,687
8,602

2,365

2,550,000

1,500,

000

1,050,000

2,550,000

1,500,

000

1,050,000

2,550,000,000&

2,550,000
2,550,000

1,500,

000

1,050,000

VN

589,133

263
588,870

523,

309

65,824

307 21201 &

UL

589,133

263
588,870

523,

309

65,824

o
©
HO
1
1%
x
A
i

O
T
b
>
mt
>
H

a3 N BH=H)
589,133,000&

Mo

589,133

589,133

263
588,870

523,

309

65,824

HASH MEXA

EURE

660,858

330,429
330,429

660,

858

307 glz2tol ™

UL

660,858

330,429
330,429

660,

858

09

A
e

1%

A
HALH MEXA

HX32
_|__|_|:

[o

O

660,858,000& * 100 Xl

M H

660,858

660,858

330,429
330,429

660,

858
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SN A

EEME 2
Chel: o2 2 S22+ AY & (SH9: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHEHA Hsded EX 70,000 70,000 0
307 gl2tol & 70,000 70,000 0
09 2HAHAEXS 70,000 70,000 0
OS0EHA Hlaoled 23
70,000,000& * 1JHE X 70,000
AN 2 X2 4H K& 156,000 234,000 A78,000
2 46,800
s 109,200
307 21201 A 156,000 234,000 A78,000
2 46,800
s 109,200
09 2HAHAEXS 156,000 234,000 A78,000
OSAIN ZXBAY Ng
13,000,000& * 1204 156,000
= 46,800
[ia 109,200
BAIRZ HEZM =2 XN 3,000 2,000 1,000
< 1,500
[ia 1,500
307 21201 A 3,000 2,000 1,000
< 1,500
[ia 1,500
09 2+=HAHEBEXS 3,000 2,000 1,000
O#AlI2= IEZHM ==& XI= 3,000,000& 3,000
= 1,500
fia 1,500
DE}NC TAX 30,000 23,600 6,400
< 15,000
s 15,000
307 gl2tol & 30,000 23,600 6,400
< 15,000
fia 15,000
09 2HAHAEXS 30,000 23,600 6,400
Os0H&E HA WSIIHE =2 XIAY
6,000,000& 6,000
< 3,000
i 3,000
Os0E HA WSIHE 10% =3 X
24,000,000& 24,000
= 12,000
i 12,000
EcdE OISEA 299 150,000 170,000 220,000
< 45,000
s 105,000
307 gl2tol & 150,000 170,000 220,000
< 45,000
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X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
o 105,000
09 2+HAHEEXS 150,000 170,000 A 20,000
OEctE IS8 Al 2¢ 150,000, 000& 150,000
< 45,000
[ia 105,000
scte #4898 =g8dAa 29 80,000 100,000 220,000
< 24,000
s 56,000
307 21201 A 80,000 100,000 220,000
< 24,000
[ia 56,000
09 2+=HAHEBEXS 80,000 100,000 220,000
O&FEs 8L 2d N& 80,000,000& 80,000
< 24,000
fia 56,000
EAIEH 222 X3 298,800 157,800 141,000
201 £B-2dH| 298,800 157,800 141,000
01 At 22l 298,800 157,800 141,000
OHAIgH 22210 XA 298,800
—&10= 55,000& = 42004 ~ 123 277,200
Z DM 180,000& * 120CH 21,600
SWEA 2F 100,000 0 100,000
307 glz2+ol & 100,000 0 100,000
09 2HAHAEXS 100,000 0 100,000
OS LAl 224l X& 100,000, 000& 100,000
SHE S8 2¢ 200,000 0 200,000
405 RHoHE S HI 200,000 0 200,000
01 et ESFH S 200,000 0 200,000
Os0E g4 2 100,000,000& * 2CH 200,000
HAHLARZH(1,0008 HA) 29 300,000 0 300,000
307 21201 A 300,000 0 300,000
09 2+=HAHEBEXS 300,000 0 300,000
Oogadl X& 300,000, 000& 300,000
WEAHTALE &5 & I 5,806,561 4,133,809 1,672,752
Xl 1,500,000
= 850,000
s 3,456,561
WSetM - HOAlE &X & FHl 700,181 714,116 A 13,935
101 @124 dl 10,121 8,696 1,425
04 JIZHHZ2Z2XNHESE = 10,121 8,696 1,425
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AN A4S0
M sws N
e NSAHHALE 25 & FH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHASHUIIA 22 FH (28204 A)
60,2403 * 14H = 12 10,121
201 L2 | 49,500 47,850 1,650
02 =224l 49,500 47,850 1,650
O3 & HA 49,500
—®MIe3(USHsSE ¥ a2 £2)|)
27,500& = 1508 = 12& 49,500
401 Al EHI L 2O 640,560 657,570 A17,010
01 A& HI 636,549 653, 141 A 16,592
OuStEAIEES &X & &l 556,549
— XA TH & A 246,836
sS4 1,630& = 59,265m 96,602
tg Al 4303 * 349,380m 150,234
— 22T HEM 200,740& * 20000 2 40,148
—wsdsI 4Xl 63,204,080& * 20H A 126,409
—WESASHOHI WA 7,200,740 * 5IH A 36,004
—wWsSASI BF WA 2,474,240& 1004 24,743
—2H8E E2J &X
3,640,000& * 500 £ 18,200
— WSt EXE X 64,209
=4 B 215,000& * 40= 8,604
A ZXE 1,659,170 * 15 24,888
L2 B 6,143,220 = 50 A& 30,717
OuNSHHANEE RAE=> 30,000, 000& 30,000
OHASHUIIA AXI 10,000,000& * 30H & 30,000
OHAsHUIIY FXNE=> 20,000,000& 20,000
03 Al 2 THHI 4,011 4,429 A418
OA& =t 636,549,000 *0.63% 4,011
FXEINS XA 4,301,340 2,614,653 1,686,687
Xl 1,500,000
< 450,000
[ia 2,351,340
401 AIEHI L 2 CHYI 4,301,340 2,614,653 1,686,687
Xl 1,500,000
< 450,000
i 2,351,340
01 A& HI 4,290,000 2,604,916 1,685,084
Os8c MYESAEUZ2 ZEFTUE &MY
3,000,000, 000& 3,000,000
Xl 1,500,000
= 450,000
s 1,050,000
OXUOIESSEFAE ZEAY
1,200,000, 000& 1,200,000




2N AHLE
M sws N
e NSAHHALE 25 & FH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O28E =18 24 =2=000Y =23
90,000,000& 90,000
03 Al 2 THHI 11,340 9,737 1,603
OAE =R HHI 4,200,000,000& * 0.27% 11,340
ZADNENL HE 805,040 805,040 0
< 400,000
[ia 405,040
401 Al B2 28I 805,040 805,040 0
< 400,000
e 405,040
01 A& HI 800,000 800,000 0
OFH-S8E2 &2 54 L HEIYEZA
00,000,000& 800,000
= 400,000
[ia 400,000
03 A2 S THHI 5,040 5,040 0
OAIZ 2 HHI 800,000,000& *0.63% 5,040
wsAolsd B 343,094 283,890 59,204
< 2,000
s 341,094
Sgussd £ 29 323,094 283,890 39,204
307 21201 A 323,094 283,890 39,204
05 BIZHRIE 3 323,094 283,890 39,204
OSguUssH A2 (50) 323,094
— oIl 243,674
=2d83 JIE2S
1,574,000& * 10 * 123 188,880
283 403 787,000& * 10H » 23 15,740
HaBE = 58,500& = 10¥ = 12& 7,020
ALEER 43,2003 * 108 ~ 123 5,184
ng28gs 21,0002 = 10¥€ = 128 2,520
MAMEER 29,800& = 108 » 123 3,576
AR ARG
300,000& = 28 = 123 7,200
2R AZte =¥
7,530& * 1.5 = 10Al2t » 12&8 = 10H 13,554
— 244 79,420
=5 600,000& * 500 » 12& 36,000
- A E 200,000& = 504 = 123 12,000
282, UHSXAl, E At
2,000,000& = 504 = 13l 10,000
g2l RANE=S 200,000 * 123 2,400
sHes 60,000& = 12& 720
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Mo
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266,496
353,271
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551,375

266,496
284,879
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551,375

266,496
284,879

534,191

17,

184

101 Q124 H]

M

549,875

266,496
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532,931

16,
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03 RIHAZR IS
~2¢

—Jl2s 1,860,000&

—Jlg=d 1,860,000&
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o
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00

170,000

1
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100, 000&
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I
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0
e
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— @ E St 500,000& » 13FH = 23
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100,000& » 1
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EUNY M Mo A EUNE
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549,875
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290, 160
140,913
149,247
96,720
46,971
49,749
26,520
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7,301
8,299
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638
7,800
3,650
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13,000
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532,931
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B LSRR (AMDSD)
el oS gy (ALDED) CERED
SA-3H-S(3AH) - MRAS - BES Ol &F o4 %Eﬁ Hns2
= 5,016
—Hy224Y
2,130,000 /2432 * 1.5 * 20AI2} = 13% 41,023
* 122
= 9,831
2 21,192
—HREI Y
2,130,0002 /2432 * 8AIZH * 13% » 192 17,321
= 8,373
2 8,948
O4th 282 526,376,623% * 0.077 40,531
= 20,400
2 20, 131
204 MR LAYl 1,500 1,260 240
02 A3 Yl 1,500 1,260 240
oEEEE 125,009 * 19 + 128 1,500
Ay (AL DED) 68,392 45,432 22,960
2AH (ALDED) 68,302 45,432 22,960
201 YBr2 | 28,082 25,082 3,000
01 At 22l gl 28,082 25,082 3,000
Ogst4 gl 1,400,0002! 1,400
OEET 6,002 * 212 » 112 « {22 16,632
202 04t 15,000 15,000 0
01 =L 01 bl 15,000 15,000 0
SPIELES 50,0008 * 212 * 128 2,600
OZABARLY 200,008 * 18 * 122 2,400
203 &2 = | 5,160 4,200 960
04 EARYYREAY| 5,160 4,200 960
ORNSYYLE=TY| 430,008 + 122 5,160
204 MR LA Y| 1,200 1,200 0
N ETEREE 1,200 1,200 0
ONMIYL LB A 10,0002 * 122 1,200
405 Th&H3 St 19,000 0 19,000
IR EEEEE 19,000 0 19,000
OSHNEI 7Y 1,000,002 * 1CH 1,000
OFD W} 0ISANI} 7Y
18,000,0008 * 14} 18,000

_34_




